THE HALF WAVE LINE: (:
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Fig: 3.1.4 The half wave line
Fig 3.1.4:shows the circuit diagram of a transmission line with finite length %

the mput voltage is E and current /.
The input impedance of the circuit is Z;;,

The receiving end voltage and current is E and I.

A

The distance between sending and receiving end S = 3

We know, the input impedance of the lossless line is given by,

EC8651 TRANSMISSION LINES AND RF SYSTEMS



ROHINI COLLEGE OF ENGINEERING & TECHNOLOGY

. ES . R [ZR+ jRotanBS:l

Z. = —
b Ro+ jZgptanfBs

Is

Sub, S= % , b= ZTT[ in above equ,

_ZR +jRg tan(ZTn) G)

R0+ iZgtan(55) (5)
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The half wave line repeats terminating impedance. So the half wave line can be

considered as 1:1 transformer.
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